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Given: £1=,2, £5= /16

Prove: ACLBD
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Given: /DAL= /BCM,
£CDL= LABM
DC=BA

Prove: AL =CM
o
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Given: YX = WX
ZX bisects LYXW.

Prove: 1Z
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Given: O s the midpoint of NP.
LN=LP
Prove: O is the midpoint of SR.
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9. Definition of congruence
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Given: PR=PQ, SR=T0
Prove: OS = RT
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Given: L1=/2=1/3,04=/5,
ES=DT
Prove: HE =HD
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Statements | Reasons
1 L1=/2, L5=L6 1. Given N

2. AC=AC 2. Reflexive Property of Congruence

3. AMBC= AADC 3. ASA Congruence Postulate

4. AB=14D 4. Coresponding parts of congruent triangles are
congruent.

5. A0 = A0 5. Reflexive Property of Congruence

6. AABO = AADO 6. SAS Congruence Postulate

T L3=s4 7. Corresponding parts of congruent triangles are
congruent.

8. ACLED 8. 1f 2 lines intersect to form a linear pair of congruent

angles, then the lines are L




